
Math 307 Final Equation Sheet

• ay′′ + by′ + cy = 0, ar2 + br + c = 0, {er1t, er2t}, {ert, tert}, {eλt cos(µt), eλt sin(µt)}.

• y = yh + yp = c1y1 + c2y2 + yp

• y = uy1, y = y1
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• A cos(ωt) + B sin(ωt) = R cos(ωt − δ), A = R cos δ, B = R sin δ, R =
√
A2 +B2,

δ = atan2(B,A), atan2(B,A) is arctan(B/A) if A > 0 and is arctan(B/A)+π if A < 0.

• my′′ + γy′ + ky = F (t), mg = kL
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f(t) = L−1 {F (s)} F (s) = L{f(t)}
af(t) + bg(t) aF (s) + bG(s)

1 1
s

eat 1
s−a

eatf(t) F (s− a)
tn n!

sn+1

tneat n!
(s−a)n+1

tnf(t) (−1)nF (n)(s)
sin(bt) b

s2+b2

cos(bt) s
s2+b2

eat sin(bt) b
(s−a)2+b2

eat cos(bt) s−a
(s−a)2+b2

f ′(t) sF (s)− f(0)
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